Year 12 Standard Level Mathematical Studies

June 2013 Mark scheme
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Question 2.
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Question 3.
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Question 5.
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Question 7.

(@ 3=57+(n—-1)x(=2)
OR
57=3+(n—1)x(2)

Note: Award (47) for 3 or 57 seen as i, (M1) for correctly substituted
formula or list of values seen

n=28

() S, = %(57 +3)
OR
28
S, = ?(2(57) +(28-D)x-2)
OR

S, =%(2(3)+(28—1)>< 2)

- | Note: {41){ft) for 28 seen.

Award (M1) for correctly substituted formula or list of values seen.
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Question 9.
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Question 10.

@ x22y120 or [20X35
120" 120 120

=14.6 (14.5833..)

(b) 0.0746

(c)  Since p-value > 5 %, the choice of the sport is independent of gender.

a consistent conclusion with their answer in part (c).

never be awarded.

Note: The (R1) is awarded for the explicit comparison, the (41)(ft) is awarded for

It is therefore possible that (RI)(40) may be awarded, but (R0)(41) can
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